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Question: | —— eV.
(f.yv%osv$§ csgérw)
Topic: Physics-Section B
Item No: 60
Question
D- 100060
Question .
Type: Numeric Answer
e 6.03 ofe® 30D TV 6D =oHedd & h. Jo°kd a8 Fods <$.8.%. %D 100
Question:
B80S0 3 ayFgo 6400 km wond L&ES” h deod m.
Topic: Chemistry-Section A
Item No: 61
Question
D- 100061
Question
Type: MCQ
SO,Cl, ©68 Sreedd Ho IBE® SET0d wire MFSTRY) V508,
S0O,Cl, +2H,0 — H,50,+2HCl1
Question:
DHES ey MIFErY rEre S6DEBoHOH 16 IrSe NaOH oS58, ed@rAoDS
SO,Cl, S bogy dod ?
A 16
B: 8
C: 4
D: 2
Topic: Chemistry-Section A
Item No: 62
Question ID: 100062

Question Type: | MCQ




Question: B0 @ o0 Jogge K8 eidokeitd (not allowed) ?
A: — _ - s o
n=3,1=2, my=0,s=+ 5
B: 1
- n=31=2, m=-2,8=+ =
2
C: — 1
- n=3,1=3, m= -3, s= )
D: - 1
- n=3,1=0, m=0, s= 3
Topic: Chemistry-Section A
Item No: 63
Question
D 100063
Question
Type: MCQ
05mL L1 meEe Ko @%‘)&E 50 (EHeas) $0D858S %;26 Q& 0.0405°C. @6&5 5y Jeo(S
Question:
105 gmL~L 308 ey (Tediessd Teotrd headdn do& ? (k=186 k kg mol ~1)
A: 0.8
B: i |
C: 1.9
D: 2.4
Topic: Chemistry-Section A
Item No: 64
Question
D: 100064
Question
Type: MCQ
20mL © 0.1 M NH,OH & 40 mL & 0.05 M HCl & EOPL. 3365&&26 D(F0) pH dos ?
Question:

(39)9 : Ku(NH,OH)=1x1075, log 2 = 0.30, log 3 = 0.48, log 5 = 0.69, log 7 = 0.84,

log 11 = 1.04)




A: 3.2

B: 4.2

C: 5.2

D: 6.2

Topic: Chemistry-Section A

Item No: 65

Question ID: | 100065

_?;pees:tion MCQ
OF -1 0F - I1 & aHoedoso :

Sg -1 8% - 11
| (A) Ny(g) +3H;(g) — 2NH;(g) @O Cu

aueston 1 (B)  CO(g)+3H,(g) — CH,(g) +H,0(g) () Cu/ZnO-Cr,0,
(C) CO(g)+H,(g) - HCHO(g) () Fe,0,+K;0+ALO,
(D) CO(g) +2H,(g) — CH,OH(g) (IV) Ni
[IND m%@@ o0& VOGHR aTrend &Jé@_@o&.

A (A) - (IT), (B) - (IV), (©) - (1), (D) - (1)

B: (A) - (1), (B) - (D), (C) - (IV), (D) - (1)

C: (A) - (IID), (B) - (IV), (C) - (1), (D) - (II)

D: (A) - (1), (B) - (1), (C) - (IV), (D) - (II)

Topic: Chemistry-Section A

Item No: 66

Question ID: 100066

Question Type: | MCQ

Question:

ey QOIS I [Rn] 5fl46d17s? Ko Hressy IUPAC 28 :

A:

&) (Unnilbium)




B: &)o00Hsd (Unnilunium)
C: &S5 & (Unnilquadium)
D: &ﬁ)&@cﬁ}ﬁ} (Unniltrium)
Topic: Chemistry-Section A
Item No: 67
Question ID: | 100067
Quest
T;lpees:tlon McQ
5o%8 BolfsPeasns® S oo (slag) ErHos® Sk Todhetd ﬁﬁ)&@’bzﬁw(ml
(A) CaO
(B) FeO
Question: (C) A1203
(D) ZnO
(E) NiO
Bod wi)ste ok VOGN eaTeenid amﬁo&.
A (O), (D) &m(ED
B: (A), (B), (E) &
c: (A), (B) L&D
D: (B) S
Topic: Chemistry-Section A
Item No: 68
Question ID: | 100068
Quest
T;pe;tlon MCQ
Question: @éamcﬁsozééoé‘s e oo ém&oﬁﬁﬁ?&s H,0, 66565 Sogore EDESO)&JES& 6 ?
A: Mn2+




B: Nhﬁ+

D: Nﬁﬁ+

Topic: Chemistry-Section A
Item No: 69

Question ID: 100069

Question Type: | MCQ

Question: @@é@ e Fo|BSS JOToN (B é):és&%so& -
A: Li<K<Na<Rb<Cs
B: Li<Na<K<Rb<Cs
C: Cs<Rb<K< Nac<Li
D: Li<Na<K<Cs<Rb
Topic: Chemistry-Section A
Item No: 70
Question ID:  [100070
_?;pees:tion MCQ

Bob SBgo® DB Bairedgo ‘B & H°oes théap &0G SEB 0 ?
sueston BE; + NaH —29K | A 4 NaF

A + NMe; - B

A: Q0B R0
B: BErerES
C: DEDES
D: oo HBH
Topic: Chemistry-Section A

Iltem No:

71




Question
D- 100071
Question
Type: MCQ
[E°08 068 Ireeihs® Ko POS & ST ohDHD HB)D ©os8 H&%S KAYFSH Jgrsto
Question:
6 ?
A: ?@"’&’J‘EQGE
B: 5885
C: HESESES
D: P°BeS
Topic: Chemistry-Section A
Iltem No: 72
Question ID: 100072

Question Type: | MCQ

Question: | SP08 BAPADD RS 0K DB ?
A NO

B: NO,

C: SO,

D: HCHO

Topic: Chemistry-Section A

ltem No: |73

Question | 100073

?;pees:tion MCQ




X &85 ‘Y o8& a8 53:&?9’;6&)3 ‘A SETob 2.8 (H5ed (BoSresang) s08 = 3% 3%
odHadacey ‘a” B b ol zdod. ‘@’ @%Jééaao méﬁé DB émga‘mz& Hoen
e5)8 Boswe.
i
Question: CH, CH, > a+O=C—CH2—(|Z—CH3
| | CH,
H,C=C~-CH;,~C-=CH,
CH T G
3
TIoUH0 (A) L)»b+0=C—CH2—(|3—CI*13
CH,
X’ 0805w ‘Y ey SBodre :
A KMnO,/H* &8¢ 9O KMnO,, 273 K
B: KMnO,(995), 273 K 800 KMnO,/H *
c KMnO,/H* £08c O;, H,0/Zn
D: 0,, H,0/Zn £8c5» KMnO,/H*
Topic: Chemistry-Section A
Item No: 74

Question ID: 100074

Question Type: | MCQ

Bob SBS® wdHs DB (Ecirasigo 28 ?
OH

Question: (1) H3C 4©7 SOZCL 336&5

(i) NaCN, DMF

L.
»




CN
A: /‘(
CN
B \/k
CN
C: j)\
CN
D: /:\/
Topic: Chemistry-Section A
ltem No: 75
Question
D- 100075
Question
Type: MCQ
9) (DEeH éa%émé's, & 8od 56565 (BOSresdB80 (substrate) 0000 (Ediresdgo
Question:

(product) © BeoonE JBGHIO 0.




Cl H, H
).
Pd.BaSOy
O
CN

B:

(i) DIBAL-H H

(i) HO

O
CO,CyHp

C: § g

(i) AlH(iso Bu)Z* H

(i) H,O

O
D:
OH (i) NayCr,O; H
(ii) HySO, H,O
Topic: Chemistry-Section A
Item No: 76
Question | 490076
Questi
T;Jpees: on MCQ
a8 S0 53%@’26&‘:03 ‘A I\Ing‘?-:i6 BEEOOS S 38 Doshre éﬁ:g@’:ém B ©8odod, B
BOS 3& BAOre (strong heating) C (CgH;NO,) D8)&ob. Say#so C J, a5S'05 KOH 0g)5

Question:

588 800 wed8® we JFHedn - B SBD MADBHD &8 @Eﬁoé @88 efodob.

éé}éﬁéo AdB?




CHO
CHO
CHO
COOH
COOH
COOH
CHO
OH
Topic: Chemistry-Section A
Item No: 77

Question ID: 100077

Question Type: | MCQ

Question: DOPE JOHE I Hodddm Sed R oEob ?

H>N NH
N
N N

N T + HCHO
NH,
H->N NH
. N N + HCHO




H,N NH,
+ HCHO

C:

NH,

NH,

//
N N + HCHO
NH,

Topic: Chemistry-Section A
Item No: 78

Question ID: | 100078

Question
Type: MCQ

Question: | (85 EeHBRS (D88 RePd DBed) & 8ol D Qo%es0 ©ern &0énod ?

A: @-_Jé)é
B: DE0Ed
C: fﬁ(éqé
D: 53@6&5
Topic: Chemistry-Section A
Iltem No: 79
Question
D 100079
Question
Type: MCQ
@ rPeESn (receptors) & oo NEYEHED T Defees BEgo 285600 H8usn boBsrerd
Question:
QB0 HoHed DHoerdd ?




A: @ﬁs RJEJ)Q}J
B: cDDé.]ﬁB 3%@
C: 5205
™me)  ed
D: aoéﬁﬁécﬁb%m
Topic: Chemistry-Section A
Item No: 80
Questi
Dot 1100080
Questi
¢ ;pe; ion | \ica
(BotS Both DHSeaen BIRDTEO.
D&Bea-1: A¥TSH KHSO, &° JATY WEd88:m0 Bod AE°DS DG,
Question:
D3Bes-11 : cDL:E,s&)S & Do (fruits) TPOS Goénod HHBAD ANTSD At Tethard.
JOGNI a3 3263&550&.
A: ARV -1 0O ANVea~11 Bokr HBGHI.
B: ARV -1 DO AX8ee-1I BoLkr JBGHID o).
c DSBea-1 HBFHE 5o DSBea-1I HOTHE oo,
D: DSBea-1 HOTHHO T 0 VSBea-II HOTDHO.
Topic: Chemistry-Section B
Item No: 81
Question ID: 100081

Question Type: | Numeric Answer

Question:

Bob @S r&Hed® (species)

No: Nyt ™ Nt Qs Ot @502~

KXo cDIOB) (@Kot e Sogys




Topic:

Chemistry-Section B

Item No: 82
Question
D- 100082
Ques.tion Numeric Answer
Type:
298 K & @28, (¢ SHoco @rEasSe 578 dogrd) $&sme —2220.0 kJ mol 1,
Question: | —393.5 k] mol ! £8&as» —285.8 k] mol L (@S (C3Hy) So3he dogrd) H85rewo
k] mol L. (576 rpodo)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100083
Ques.tion Numeric Answer
Type:
27°C 5 o8 88 Teasnd) Hkssw 4 atm. ©F &PHS S TS HBBOLTEY BBoH) BB,
Question: | & 50D & SHEddw  x10 " latm.
(BRED : 27°C 5§ B grg) Hesssm 0.4 atm.)
Topic: Chemistry-Section B
Item No: 84
Question
D- 100084
?ues.tion Numeric Answer
ype:
298 K &, Zn|Zn2* (aq)||Sn* *|Sn 50&05) 502850 0.801V 3 S858 585 gPridosion (quotient)
1072 2R D8 BIPchS Hoérssn {55565 FER aesggﬁe: Sogg
Question:
. 0 _ o _ 2303RT
(25D Ezn2+|zn =—0.763V, ESnx+|Sn +0.008V $080%20 === 0.06 V
BB E0)
Topic: Chemistry-Section B

Item No:

85




Question

D- 100085
_I(?;pees:tion Numeric Answer
2.8 eaiw :633&@’26@ A &9 5H&550 500 Torr 08050 e Beesd dégé: @cgcﬁwaé) 240 s.
Question: | zrQ 5550 250 Torr LoD, @tgdﬁwaé) 4.0 min 1‘565 (ERVeI= : (?’.g)vq;oé
235°8)))
Topic: Chemistry-Section B
Item No: 86
Question
D- 100086
_?;pees:tion Numeric Answer
8o& &% Sogapedn H68D0B0R :
[Co(NH,) > *
[CoCI(NH,):]>*
Question: [Co(CN)6I>~
[Co(NH,)5(H,0)° *
©d SEH SSoKFY g0 Mo P08 %90 PO $0BHD) S SrED ©cHIS (FPLED
Qend B.M. (CS{;{&} ‘f.gjvc;oéén)
Topic: Chemistry-Section B
Item No: 87
Question
D- 100087
_?;pees:tion Numeric Answer
Co3*, Ti2t, V2+ $805» Cr2t ecirSed® o8 ordd seddorr 653&@eRod5H%, DS olde
Question: | 8%y @Xe0 Dod TPEPESH Ko BeHE. TR S LB OIS [EPLrEm ok
des B.M.
Topic: Chemistry-Section B
Item No: 88
Question 100088

ID:




Question

Type: Numeric Answer

Berd ég@e_’;‘a JPaS0 ATROODIHED, 0.25 g © a8 $3Fsm $08 DbhBeand @B

Question: | gexB5B0i6% 25 mL & 2 M H,S0, o558650. S8 sSypsind® 3efas edm

Topic: Chemistry-Section B

Item No: 89

Question 1 190089

_?;pees:tion Numeric Answer

Question: | @$&c% (acyclic) C,HN &° &) sp? $05888msn obs s8R dogy

Topic: Chemistry-Section B

Iltem No: 90

Question ID: 100090

Question Type: | Numeric Answer

8o BNS SES*

H;C
9

C=0 Et -

O Et > A

ion: PP 8a5Pe3 980
Questio CH2 B ("j B CH3 (L 5 5 )

(@)

Bosresiigo A &° ) 386 sE)Sfo Hoay




